
Business: A Practical Introduction (Williams/Sawyer/Berston)

Chapter 1  Starting Out

1) A nonprofit organization is a business.

Answer:  FALSE

Explanation:  A business is an organization focused on earning profits, so a nonprofit organization does not fit the definition of a business.

Page Ref: 4

Difficulty:  Easy

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

2) Global outsourcing is the practice of using suppliers outside the United States to provide labor, goods, or services for an American business.

Answer:  TRUE

Explanation:  Global outsourcing is also known as offshoring, and has contributed to the decline in American manufacturing.

Page Ref: 6

Difficulty:  Easy

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

AACSB:  Dynamics of the Global Economy

3) Only nonprofit organizations provide benefits to society.

Answer:  FALSE

Explanation:  Business organizations offer many societal benefits, including an improved quality of life and financial support for government services.

Page Ref: 7

Difficulty:  Easy

Objective:  1.2 How can business benefit society?

Classification:  Concept

4) Innovation is one factor used to measure a society's quality of life. 

Answer:  TRUE

Explanation:  Quality of life is measured by standard of living, health care, education, freedom, happiness, art, environmental health, and innovation. 

Page Ref: 7

Difficulty:  Easy

Objective:  1.2 How can business benefit society?

Classification:  Concept

5) Taxes paid to the government by both a business and its employees provide an important social benefit.

Answer:  TRUE

Explanation:  Local, state, and federal governments use tax revenues to pay for important public services such as education, safety, and health. 

Page Ref: 8

Difficulty:  Easy

Objective:  1.2 How can business benefit society?

Classification:  Concept

6) Donating goods or services to a community group will cause a business to become a nonprofit. 

Answer:  FALSE

Explanation:  A business can earn profits and still provide direct social benefits through donations.

Page Ref: 8

Learning Outcome:  Discuss the roles of ethics and corporate responsibility in business

Difficulty:  Easy

Objective:  1.2 How can business benefit society?

Classification:  Synthesis

AACSB:  Ethical Understanding and Reasoning

7) People who are self-employed are more likely to be wealthy than people working in a salaried position.

Answer:  TRUE

Explanation:  Researchers Stanley and Danko found that self-employed people are four times more likely to be millionaires than salaried workers. 

Page Ref: 9

Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

8) Higher degrees of wealth are always generated by high-end businesses such as jewelers and lush seaside resorts.

Answer:  FALSE

Explanation:  Business type is not a predictor of wealth. Many self-employed millionaires are engaged in agriculture, pest control, and other "unglamorous" fields.

Page Ref: 9

Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

9) Compared to entrepreneurs, salaried employees face no risk in their ability to earn a living and generate wealth.

Answer:  FALSE

Explanation:  Entrepreneurs face the risk of a business not earning profit, but salaried employees are at risk of losing their job due to outsourcing, economic conditions, and other factors. 

Page Ref: 10

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

10) Businesses in the high-tech sector have no need for natural resource factors of production.

Answer:  FALSE

Explanation:  A technology-based business may utilize land for facilities, water to cool machinery, and sunlight to generate power.

Page Ref: 10

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

11) Businesses that only provide services do not rely on factors of production.

Answer:  FALSE

Explanation:  The word production does not imply manufactured goods. Service businesses rely on natural resources, capital, human resources, entrepreneurship, and knowledge—the factors of production.

Page Ref: 10

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

12) Most natural resource factors of production cannot be created by a business.

Answer:  TRUE

Explanation:  Most of these resources are created by nature and must be mined, harvested, harnessed, or purified.

Page Ref: 10

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

13) Money is not considered a factor of production.

Answer:  TRUE

Explanation:  Within the definition of factors of production, the term capital includes buildings, machines, tools, and technology used to produce goods and services. 

Page Ref: 11

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

14) Taking risks to create a new business is considered a factor of production. 

Answer:  TRUE

Explanation:  This activity is known as entrepreneurship—a traditional factor of production.

Page Ref: 11

Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

15) A recent addition to the traditional factors of production is technology.

Answer:  FALSE

Explanation:  Technology is considered a capital factor of production. Knowledge is considered an addition to the four traditional factors. 

Page Ref: 11

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

16) The variety of forces that can encourage or discourage business development comprises the business environment.

Answer:  TRUE

Explanation:  These forces are economic, technological, competitive, global, and social.

Page Ref: 12

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

17) Only large enterprises need to be concerned about forces within the business environment.

Answer:  FALSE

Explanation:  Businesses of all sizes are impacted by these forces; even a sole proprietor must respond to demographic changes or comply with economic regulations.

Page Ref: 12

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

18) The term for all the equipment and machines required to help a business operate is technology.

Answer:  TRUE

Explanation:  Technology does not just refer to sophisticated tools like tablet computers and electron microscopes; a pickup truck can help a farmer transport goods.

Page Ref: 12

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

19) Advances in technology always exert positive forces in the business environment. 

Answer:  FALSE

Explanation:  One example of a negative technological force is the increased risk to both businesses and consumers from computer hackers who gain access to sensitive information. 

Page Ref: 13

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

20) Businesses facing competitive forces are only concerned with customers. 

Answer:  FALSE

Explanation:  A company may compete with other businesses for employees in a tight labor market. 

Page Ref: 13

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

21) The measurable characteristics of a particular population are called demographics.

Answer:  TRUE

Explanation:  Demographics include age, race, gender, family composition, and other characteristics, all of which impact the market for goods and services.

Page Ref: 13

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

AACSB:  Multicultural and Diversity Understanding

22) In the United States, the increased use of store signage in both English and Spanish is a response to global forces in the business environment. 

Answer:  FALSE

Explanation:  Bilingual signs are a response to the growing number of Hispanics living in the United States. This demographic change is a social force. 

Page Ref: 13

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

AACSB:  Multicultural and Diversity Understanding

23) The only grocery store in an isolated rural town has little incentive to improve product variety or quality of service.

Answer:  TRUE

Explanation:  With no pressure from competitive forces, the store does not need to make additional effort or incur further expense to attract or retain customers. 

Page Ref: 13

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

24) Recession, currency valuations, and trade pacts are all examples of economic forces impacting the business environment. 

Answer:  FALSE

Explanation:  Recession, currency valuations, and trade agreements are considered global forces affecting business development. 

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

25) Managing a business requires balancing the needs and perspectives of a wide variety of stakeholders. 

Answer:  TRUE

Explanation:  Business management requires balancing the perspectives of various stakeholders, including employees, suppliers, and interest groups. 

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

26) Competitors are a stakeholder group in a business.

Answer:  FALSE

Explanation:  Although they are interested in what similar businesses are doing, competitors are not considered part of a particular organization's stakeholder environment. 

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

27) Competitive advantage is the ability of an organization to sell goods or services at a lower price than its competitors. 

Answer:  FALSE

Explanation:  Competitive advantage is the ability of an organization to produce goods or services more effectively than its competitors. 

Page Ref: 19

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

28) Social differences such as the increasing diversity of the U.S. population impact both customers and employees of an organization. 

Answer:  TRUE

Explanation:  While some business managers may focus on addressing social changes in their customer base, such changes also impact the labor pool.

Page Ref: 21

Difficulty:  Easy

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

AACSB:  Multicultural and Diversity Understanding

29) People who want to be successful in business have no time to focus on personal skills.

Answer:  FALSE

Explanation:  Acquiring valuable personal skills such as analytical thinking is one of the Seven Key Business Rules for Success.
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Difficulty:  Easy

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

30) In terms of achieving business success, self-development requires learning how to perform a specific job, think analytically, and interact well with people. 

Answer:  TRUE

Explanation:  Being effective in business is not limited to successfully managing big issues like demographic change and economic uncertainty; it also requires managing yourself through these three important skill sets. 
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Difficulty:  Easy

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

31) What is the primary purpose of a business?

A) to pay employees

B) to provide services

C) to generate revenue

D) to earn profit

E) to support the community

Answer:  D

Explanation:  D) A business is a for-profit organization.
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Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

32) Which of the following is an example of a business?

A) San Francisco State University

B) Sears

C) Red Cross

D) St. Augustine Parish

E) Massachusetts Teachers Association

Answer:  B

Explanation:  B) Sears is a retail business that sells goods to earn a profit.
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Difficulty:  Easy

Objective:  1.1 What is business, and how are profits made?

Classification:  Application

33) What is the term for the total amount of money produced by the sale of goods and services?

A) revenue

B) profit

C) assets

D) expenses

E) loss

Answer:  A

Explanation:  A) Businesses commonly calculate revenue received from selling goods and services for a defined period. 
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Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

34) Which of the following is NOT an example of a good?

A) a pair of shoes

B) a print ad

C) a dozen farm-fresh eggs

D) a barrel of oil

E) a stack of diner pancakes

Answer:  B

Explanation:  B) Goods are tangible products that can be touched. While a print advertisement can be seen and touched, customers pay for the services that create the ad.
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Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Application

35) What is the formula for calculating profit?

A) revenue minus loss

B) revenue plus costs

C) expenses minus revenue

D) revenue minus expenses

E) expenses plus revenue

Answer:  D

Explanation:  D) The amount of revenue remaining after all business costs are paid is profit.
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Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

36) Which of the following is NOT an example of a service?

A) yoga classes

B) health care

C) advertising

D) aspirin

E) personal training

Answer:  D

Explanation:  D) Aspirin is a tangible product and is considered a good, not a service.
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Difficulty:  Easy

Objective:  1.1 What is business, and how are profits made?

Classification:  Application

37) Last year, Carmela's florist shop had higher expenses than revenues. Which of the following must be true?

A) Carmela is operating a nonprofit organization.

B) The florist shop posted a profit for last year.

C) The florist shop posted a loss for last year. 

D) Carmela needs to raise the prices for her goods. 

E) Carmela's employees earned no salary last year. 

Answer:  C

Explanation:  C) With expenses for the business running higher than revenues, the shop posted a loss.
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Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Application

38) Jenny built an online business selling "dream kits"—plastic boxes filled with glitter and charms. She had been buying empty boxes from a local company, but when she learned about a company in Vietnam offering them at one-third the cost, she pursued this option to lower her costs. What is Jenny practicing?

A) global outsourcing of labor

B) global outsourcing of services

C) global outsourcing of capital

D) global outsourcing of technology

E) global outsourcing of goods

Answer:  E

Explanation:  E) Jenny is using suppliers outside the United States to obtain goods—the plastic boxes—at a lower price.

Page Ref: 6

Learning Outcome:  Discuss strategies for setting and adjusting prices

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Application

AACSB:  Dynamics of the Global Economy

39) What is the term for the amount of goods and services people can buy with the money they have?

A) quality of life

B) happiness

C) standard of living

D) consumer sentiment

E) social benefit

Answer:  C

Explanation:  C) Standard of living is one component of the overall measure of a society's quality of life.
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Difficulty:  Moderate

Objective:  1.2 How can business benefit society?

Classification:  Concept

40) Which of the following elements of business does NOT contribute directly to improving quality of life?

A) profits

B) goods

C) services

D) paychecks

E) research

Answer:  A

Explanation:  A) Profits are beneficial to the health of the business, but do not directly support a society's quality of life. 
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Difficulty:  Moderate

Objective:  1.2 How can business benefit society?

Classification:  Concept

41) Zack sells organic tacos out of a truck parked on an Ivy League college campus. It's a one-person operation, but the business is quite successful. Zack believes it's important for business to benefit society. Given his current operation, what is the best way for Zack to do this?

A) expand his menu options to sell more goods

B) hire two employees and offer them health benefits

C) donate unsold food to a homeless shelter

D) alternate among various locations and pay additional government permit fees

E) offer catering services on weekends

Answer:  C

Explanation:  C) As a small business, Zack's most viable option to help benefit society is donating to a community cause. 
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Difficulty:  Moderate

Objective:  1.2 How can business benefit society?

Classification:  Application

42) Most affluent households in America are headed by business owners. The self-employed account for what proportion of this group?

A) one-third

B) one-fourth

C) one-half

D) two-thirds

E) three-quarters

Answer:  D

Explanation:  D) Researchers Stanley and Danko have found that self-employed business owners comprise more than two-thirds of affluent U.S. households not headed by retirees. 
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Learning Outcome:  Describe the role of small businesses in the economy

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

43) Many factors are necessary to achieve financial success in business. What do Stanley and Danko, authors of The Millionaire Next Door, consider to be the most important factor?

A) access to capital

B) serving a high-end market

C) quality products

D) personal character

E) limited government regulation

Answer:  D

Explanation:  D) The authors state that the character of the business owner is more important than the kind of business in predicting level of wealth.
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Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

44) Entrepreneurs invest time and money in a business in spite of the fact that it may not make a profit. In business terminology, what is this situation known as?

A) uncertainty

B) risk

C) venture

D) liability

E) jeopardy

Answer:  B

Explanation:  B) Entrepreneurs face the risk that their business might fail to make a profit.
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Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

45) Marya's dog got overheated when she walked him in the hot sun, so she created a lightweight harness umbrella to keep him shaded. When other dog owners liked the idea, Marya saw an opportunity and started a successful online business selling doggy shades. What is Marya considered to be?

A) a venture capitalist

B) an entrepreneur

C) a human resource

D) a manager

E) a salaried employee

Answer:  B

Explanation:  B) An entrepreneur is a person who sees a new opportunity for a product or service and risks time and money to start a profit-making business.

Page Ref: 10

Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

46) Which of the following is not considered a traditional factor of production?

A) capital

B) natural resources

C) human resources

D) knowledge

E) entrepreneurship

Answer:  D

Explanation:  D) Management guru Peter Drucker considers knowledge to be an important production factor even though it is not a traditional one. The use of information technology in business seems to support his thinking. 
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Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

47) Cathy is a one-woman dynamo. She knows her idea for in-home cupcake decorating parties will be a smash. With her energy, personality, and creativity, she's sure this will make her rich. What should Cathy step back and consider first for her business if she wants to build wealth?

A) tax liabilities

B) human resources

C) factors of production

D) income drivers

E) outsourcing opportunities

Answer:  C

Explanation:  C) Businesses rely on resources, or factors of production, to create wealth.
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Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

48) Minerals, water, and wind are examples of which factor of production?

A) intangible resources

B) natural resources

C) human resources

D) capital resources

E) technological resources

Answer:  B

Explanation:  B) Production inputs that are useful just as they appear in nature are called natural resources. 
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Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

49) As part of his high school entrepreneur team, Nathan has been asked to research capital factors of production for their proposed business. Which of the following will Nathan NOT include in his research?

A) machines

B) tools

C) money

D) technology

E) buildings

Answer:  C

Explanation:  C) Capital factors of production do not include money.
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Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

50) How might a business that is training cable installation technicians use natural resources as a factor of production while also benefitting society?

A) by using the least expensive items for classroom fixtures

B) by installing solar panels to generate power

C) by using only recycled paper to protect forests

D) by replacing bottled water with inline water filters

E) by making an annual donation to the local Clean Air Fund

Answer:  B

Explanation:  B) Generating power through solar panels will help lower business costs by making use of natural resources and will benefit society by decreasing greenhouse gas emissions from the area power plant. 
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Learning Outcome:  Discuss the roles of ethics and corporate responsibility in business

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

AACSB:  Ethical Understanding and Reasoning

51) Last year, Sara started a business that provides on-site life coaches for overworked executives. Her business has already grown to serve clients in a neighboring state. What could be considered the company's most important factor of production?

A) entrepreneurship

B) capital

C) human resources

D) natural resources

E) knowledge

Answer:  C

Explanation:  C) As a personal service grounded in developing relationships with clients, Sara's coaching staff is the most important wealth builder for her business.
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Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

52) Which of the following is NOT applicable to knowledge as a factor of production?

A) It supports entrepreneurs in developing new products and services.

B) It is a recent addition to the set of production factors. 

C) It is largely driven by information technology.

D) It helps identify new opportunities for business development.

E) It is driven by the contributions of employees. 

Answer:  E

Explanation:  E) Employee contributions are considered a human resource factor of production. 
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Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

53) The proliferation of smartphones and tablets in workplace meetings demonstrates the growing importance of which factor of production?

A) natural resources

B) capital

C) human resources

D) entrepreneurship

E) knowledge

Answer:  E

Explanation:  E) Smartphones and tablets offer fast access to information in almost any location, enhancing the utilization of knowledge to operate a business and generate wealth.

Page Ref: 11

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Application

AACSB:  Use of Information Technology

54) Which of the following is NOT one of the external forces that can encourage or discourage business development?

A) competitive

B) personal

C) global

D) economic

E) social

Answer:  B

Explanation:  B) External factors that may encourage or discourage business development include economic, technological, competitive, global, and social forces.
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Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

55) Economic forces that affect business development fundamentally reflect a balance between what two factors?

A) freedom and regulation

B) input and output

C) purchasing power and savings rates

D) recession and expansion

E) markets and resources

Answer:  A

Explanation:  A) Economic forces within the business environment reflect ongoing tension between the freedom to build a business and restraints imposed by government regulation.
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Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

56) Which force is most likely to limit the ability of a business to generate wealth? 

A) competitive

B) technological

C) global

D) economic

E) social

Answer:  D

Explanation:  D) While all forces within the business arena can impact wealth generation, economic forces such as government regulation can most directly limit this capacity.
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Difficulty:  Difficult

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

57) In response to scandals involving companies such as Enron and Worldcom, Congress in 2002 passed the Sarbanes-Oxley Act, which sets standards of performance and accountability for public company management and board members. This is an example of what kind of forces at work?

A) social

B) defensive

C) economic

D) competitive

E) global

Answer:  C

Explanation:  C) As a federal regulation governing business practices, Sarbanes-Oxley is an example of economic forces within the business environment.
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Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

58) Which of the following is NOT an example of technological forces in the business environment?

A) antivirus software

B) forklifts

C) bioengineering

D) antipiracy laws

E) barcode scanners

Answer:  D

Explanation:  D) While antipiracy laws cover technology such as software and digital files, these regulations would be considered an economic force.

Page Ref: 12

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

59) What is the term for the relationship between business input and output?

A) allocation

B) capacity

C) yield

D) productivity

E) profit

Answer:  D

Explanation:  D) Productivity is defined as the amount of output given the amount of input. 
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Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

60) The U.S. Postal Service posted a $5.1 billion loss in the 2011 fiscal year. Analysts attribute much of the system's financial problems to a marked decline in the volume of mail, since more people are using email. What business force is at play in this example?

A) economic

B) technological

C) demographic

D) global

E) social

Answer:  B

Explanation:  B) The ability to communicate and send documents via computers has supplanted the need for physical or "snail" mail. 
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Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

61) Deploying technology usually has the most direct impact on what business factor?

A) knowledge

B) productivity

C) costs

D) competition

E) customers

Answer:  B

Explanation:  B) The purpose of installing a technology is typically to improve a company's productivity.
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Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

62) Cities and states constantly offer tax incentives to entice businesses to relocate or build facilities in their region. What forces are working here to influence the business environment?

A) economic

B) technological

C) competitive

D) global

E) social

Answer:  A

Explanation:  A) Business tax rates are economic forces because they impact potential investment and profit for a business.
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Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

63) Which of the following likely had the LEAST role in the recent growth of U.S. businesses outsourcing work to other countries?

A) state and federal business regulations

B) expansion of computer technology

C) pursuit of competitive advantage

D) foreign country policies on wages

E) increased literacy rates in foreign countries

Answer:  A

Explanation:  A) While some U.S. government regulations might support a decision to outsource labor, all the other choices more directly impacted the growth of this practice. 

Page Ref: 12

Difficulty:  Difficult

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

AACSB:  Dynamics of the Global Economy

64) Hector is at a regional conference with fellow realtors. At the break, he waits in line to check his email on the hotel computers, while the other realtors quickly scan their smartphones and continue networking. Which business force is negatively impacting Hector's business?

A) economic

B) technological

C) competitive

D) global

E) social

Answer:  B

Explanation:  B) Hector's unwillingness to embrace the latest communications technology decreases his business productivity in relation to his peers. 

Page Ref: 12

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

65) Pria was upset when she heard that another nail salon was opening down the street from hers. She recently took out a loan to upgrade the salon's furniture and lighting. Pria is responding to what kinds of forces in the business environment?

A) social

B) global

C) competitive

D) technological

E) economic

Answer:  C

Explanation:  C) Both Pria and the new salon will be competing for the same customers in the local area.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

66) In the early 2010s, the struggles of European policymakers to address high amounts of government debt incurred by some eurozone countries impacted stock markets in the United States. What type of force impacted the U.S. business environment? 

A) historical

B) technological

C) competitive

D) global

E) social

Answer:  D

Explanation:  D) The response of U.S. and other stock markets to economic problems in Europe demonstrates the global nature of the modern business environment.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

AACSB:  Dynamics of the Global Economy

67) Prior to 1984, all telephone service in the United States was provided by a company called American Telephone & Telegraph. The U.S. Justice Department mandated that the company be broken up into smaller entities. This benefitted consumers by unleashing what kind of forces in the marketplace?

A) economic

B) technological

C) competitive

D) global

E) social

Answer:  C

Explanation:  C) Ending one company's domination of the telecommunications marketplace enabled the formation of new businesses offering phone service. Competitive pressures resulted in lower prices and improved services for consumers.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

68) Which of the following is the BEST example of a business generating wealth from an apparent negative force within the business environment?

A) a pet shop owner buys out his local competitor

B) a whistleblower reports corruption in a financial firm

C) a firm identifies security breaches in computer systems

D) a grocery adds Asian foods to serve a growing immigrant population

E) a company moves its operations to a state with lower tax rates

Answer:  C

Explanation:  C) The increasing sophistication of computer technology puts businesses at risk from hackers. If a firm responded to such risks by improving its security, this will help it do business better. 

Page Ref: 13

Difficulty:  Difficult

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Synthesis

69) Which of the following is NOT an example of global forces in the business environment?

A) immigration policy

B) flu pandemics

C) trade agreements

D) climate change

E) cloud computing

Answer:  E

Explanation:  E) The ability to manipulate and store computer data "in the cloud" is a technological force.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

AACSB:  Dynamics of the Global Economy

70) Which force within the business environment likely produces impacts on the broadest or most systemic level?

A) economic

B) technological

C) competitive

D) global

E) social

Answer:  D

Explanation:  D) Global forces can affect the business environment for entire countries or regions.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Concept

AACSB:  Dynamics of the Global Economy

71) Since the bland 1970s days of meatloaf, mashed potatoes, and canned peas, Americans' culinary tastes have expanded to include such foods as chipotle, sushi, and guacamole. Businesses have responded in kind to benefit from these forces. What kinds of forces are most in play here?

A) economic

B) technological

C) competitive

D) global

E) social

Answer:  E

Explanation:  E) Shifts in the preferences of a population are demographic, or social, forces.

Page Ref: 13

Difficulty:  Easy

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

72) During an economic boom with high rates of employment, prospective applicants at job fairs are heavily courted by hiring reps. What kinds of forces are jobseekers benefitting from in a case such as this?

A) economic forces

B) technological forces

C) competitive forces

D) global forces

E) social forces

Answer:  C

Explanation:  C) In periods of high employment, businesses are in competition for the best talent—which benefits jobseekers. 

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

73) Chet runs a woodworking company in a small Midwest town. Many of the original residents' children move away for college, while the low cost of living attracts many Hispanic families. Which factor of production will likely change in response to the social forces affecting Chet's business? 

A) natural resources

B) capital

C) human resources

D) entrepreneurship

E) knowledge

Answer:  C

Explanation:  C) Chet will likely hire more Hispanics for his shop, which may require bilingual signage in the facility and lessons in Spanish for his existing English-speaking employees. 

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Application

AACSB:  Multicultural and Diversity Understanding

74) Parties whose interests are influenced by the activities of an organization are known most fundamentally as what?

A) interest groups

B) markets

C) stakeholders

D) suppliers

E) consumers

Answer:  C

Explanation:  C) Stakeholder groups, including shareholders, management, and employees, are impacted by a particular organization's activities. 

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

75) What are people who can claim an organization as their legal property called?

A) managers

B) owners

C) stakeholders

D) executors

E) directors

Answer:  B

Explanation:  B) Owners of a business have legal property rights to it. One class of owners is shareholders. 

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

76) Experts say that the first law of business is to take care of what group?

A) shareholders

B) customers

C) employees

D) suppliers

E) government regulators

Answer:  B

Explanation:  B) This is a good rule, because customers pay to use an organization's goods or services. 

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

77) Which of the following is both a factor of production and a stakeholder?

A) capital

B) human resources

C) customers

D) owners

E) natural resources

Answer:  B

Explanation:  B) Employees are both a factor of production and a stakeholder group.

Page Ref: 15

Difficulty:  Difficult

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Synthesis

78) Rite Price Parts buys aluminum from a metals clearinghouse. The metal is fabricated into frames, which the company sells to TV manufacturers. In this scenario, Rite Price Parts serves as which stakeholders in the business environment?

A) customer and distributor

B) customer and vendor

C) vendor and distributor

D) customer and partner

E) distributor and supplier

Answer:  B

Explanation:  B) Rite Price Parts is a customer of natural resources from the metals clearinghouse and a vendor of goods to the manufacturer.

Page Ref: 15

Difficulty:  Difficult

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

79) Which stakeholder has a direct role in the output of a business?

A) lenders

B) customers

C) distributors

D) owners

E) media

Answer:  C

Explanation:  C) Distributors help a business sell its goods and services to customers.

Page Ref: 16

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

80) The fourth graders at Wildwood Elementary School are having a bake sale to raise funds for a class field day. Their parents spent all weekend making treats for the kids to sell. What type of business stakeholder are the parents?

A) employees

B) suppliers

C) owners

D) distributors

E) nearby communities

Answer:  B

Explanation:  B) A supplier or vendor provides raw materials, services, equipment, labor, or energy to a business.

Page Ref: 16

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

81) Before the birth of 24-hour cable news networks and the Internet, newspapers published an evening edition. Children often delivered this paper to readers after school. Which stakeholder role did these children serve for the newspaper publishers?

A) employees

B) suppliers

C) distributors

D) middlemen

E) sales agents

Answer:  C

Explanation:  C) Distributors help sell goods and services to customers.

Page Ref: 16

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

82) Which stakeholder group establishes formal rules for business operations?

A) owners

B) employees

C) interest groups

D) nearby communities

E) government regulators

Answer:  E

Explanation:  E) Local, state, federal, and international government entities establish legal rules and regulations to guide business operations.

Page Ref: 17

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

83) Which type of stakeholder is primarily engaged in exerting influence from the outside on the activities of a business?

A) media

B) interest groups

C) government regulators

D) nearby communities

E) owners

Answer:  B

Explanation:  B) Interest group members try to influence businesses and governments on specific issues. 

Page Ref: 17

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

84) Which of the following is NOT considered a community stakeholder of a business?

A) the public school system

B) the municipal government

C) the media

D) local nonprofits

E) neighborhood residents

Answer:  C

Explanation:  C) For a business, the media is a distinct stakeholder group warranting different consideration from that of community stakeholders.

Page Ref: 17

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

85) Government regulators are an important stakeholder group that businesses must consider. Which of the following is NOT a government regulator?

A) the city tax board

B) the U.S. Environmental Protection Agency

C) the local chamber of commerce

D) the Occupational Safety and Health Administration

E) the state Department of Commerce

Answer:  C

Explanation:  C) Chambers of commerce are professional associations that advocate for the business community, but do not regulate business operations.

Page Ref: 17

Difficulty:  Easy

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

86) Many large business organizations have a public relations manager. Which stakeholder group does this employee primarily interact with?

A) shareholders

B) customers

C) media

D) government regulators

E) interest groups

Answer:  C

Explanation:  C) Public relations managers work with the media to disseminate favorable news or to address problems related to the organization. 

Page Ref: 17

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

87) Which of the following is NOT considered an interest group stakeholder for a business?

A) People for the Ethical Treatment of Animals

B) Occupy Wall Street

C) U.S. Chamber of Commerce

D) U.S. Environmental Protection Agency

E) Sierra Club

Answer:  D

Explanation:  D) The U.S. EPA would be considered part of the government regulator stakeholder group.

Page Ref: 17

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

88) Many business sectors are impacted when a country experiences an economic recession. This factor is an instance of which part of the Key Business Rules?

A) stakeholders

B) uncertainty

C) competitors

D) social responsibility

E) social differences

Answer:  B

Explanation:  B) Numerous factors can alter economic growth; successful business managers must deal effectively with this uncertainty.

Page Ref: 18

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

89) Which of the following is NOT an example of e-commerce?

A) Amazon.com

B) iTunes

C) CNN.com

D) Netflix

E) Travelocity.com

Answer:  C

Explanation:  C) E-commerce is the buying and selling of products or services over computer networks. CNN.com is the website for a media outlet; it relies on advertising, so it is not focused on selling products or services directly to consumers. 

Page Ref: 18

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

90) The rise of e-commerce, green business, and telecommuting are examples of the Key Business Rule focused on which theme?

A) competition

B) common economy

C) ethics

D) social differences

E) uncertainty

Answer:  E

Explanation:  E) The growth of e-commerce, green business, and telecommuting all reflect the rule "You must deal with constant change."

Page Ref: 18

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

91) What is the term that describes an organization that adopts practices for the use of renewable resources and works to solve environmental and social problems?

A) green business

B) a stakeholder group

C) e-business

D) social enterprise

E) global

Answer:  A

Explanation:  A) Green businesses emphasize renewable resources and strive to solve social and environmental problems. 

Page Ref: 18

Learning Outcome:  Discuss the roles of ethics and corporate responsibility in business

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

92) Green business addresses which theme of the Key Business Rules?

A) dealing with uncertainty and change

B) mastering the competitive environment

C) responding to the common economy

D) dealing with social differences

E) acquiring personal skills

Answer:  A

Explanation:  A) Green businesses deal with a host of environmental problems, including climate change, which presents great uncertainty for the future.

Page Ref: 18

Learning Outcome:  Discuss the roles of ethics and corporate responsibility in business

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept
93) One Key Business Rule emphasizes mastering the competitive environment to stay ahead of rivals. Which of the following is NOT a core area of focus for business managers following this rule?

A) being responsive to customers

B) achieving innovation in products and services

C) striving for employee efficiency

D) remaining compliant with government regulations

E) continually improving products and services

Answer:  D

Explanation:  D) Remaining compliant with government regulations is a minimum necessity for doing business and is not sufficient for maintaining competitive advantage. 

Page Ref: 19

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

94) In the 2010s, rising labor costs in Asia combined with high oil prices increased the cost of overseas manufacturing and shipping. In response, U.S. companies began transferring outsourced manufacturing work back to America. This is an example of the benefits of what kinds of forces?

A) technology

B) competitive advantage

C) globalization

D) e-business

E) diversity

Answer:  C

Explanation:  C) The more level playing field of the various global economic systems allows companies greater flexibility to earn profits.

Page Ref: 19

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

95) Glenn owns a gourmet cupcake business. After watching his employees' work process for a week, he modified a nozzle to help them frost the cupcakes faster. The company can now produce the same amount of cupcakes in six hours instead of seven. How is Glenn mastering the competitive environment?

A) by being responsive to customers

B) by improving product quality


C) by improving service quality

D) by innovating to offer better products

E) by increasing employee efficiency

Answer:  E

Explanation:  E) By speeding cupcake production, Glenn has increased the efficency of his employees' output.

Page Ref: 19

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

96) Which term reflects the leveling of opportunity for established and emerging economies?

A) outsourcing

B) globalization

C) offshoring

D) competitive advantage

E) social diversity

Answer:  B

Explanation:  B) Globalization is the trend of the world's economies becoming more interdependent. This has made the playing fields more level between companies in different locales.

Page Ref: 19

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

AACSB:  Dynamics of the Global Economy

97) Which Key Business Rule directly addresses both individuals and the organization?

A) Rule 1: You must meet the needs of stakeholders. 

B) Rule 3: You must master the competitive environment.

C) Rule 4 : You must deal with an interdependent global economic system.

D) Rule 5 : You must be ethically and socially responsible.

E) Rule 7 : You must acquire personal skills needed for business success.

Answer:  D

Explanation:  D) Employees of an organization must act ethically, and the organization must practice corporate social responsibility. 

Page Ref: 20

Learning Outcome:  Discuss the roles of ethics and corporate responsibility in business

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

AACSB:  Ethical Understanding and Reasoning

98) Which of the following is NOT considered an example of social differences that a successful business must address?

A) expanded use of technology

B) increased cultural diversity

C) growth in college attendance

D) declining importance of religion

E) increased acceptance of gays and lesbians

Answer:  A

Explanation:  A) The widespread use of technology is a significant development, but it is not a social change.

Page Ref: 22

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

99) Kevin owns a midsized landscaping business. A friend recommended he define and distinguish his brand to outperform the competition. Kevin thinks it seems like a good idea, but he has no idea how to begin. What personal skill does Kevin need to develop?

A) marketing

B) organization

C) analytical thinking

D) networking

E) landscape design

Answer:  C

Explanation:  C) Analytical thinking is the ability to break down a large challenge into parts and understand how they work together. This skill will help Kevin execute a successful brand strategy.

Page Ref: 23

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Application

100) Describe the shifting focus of the U.S. economy since the 1800s.

Answer:  Since the 1800s, the United States has evolved from an agricultural-based economy to an industrial economy and is now primarily a service-based economy. 

Explanation:  The industrial revolution brought the United States into an industrial economy, which then evolved into a service-based economy.

Page Ref: 6

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

101) Explain why much less of the U.S. population is employed in agriculture than formerly.

Answer:  Advances in technology require less human labor to grow food for U.S. consumption.

Explanation:  The agriculture industry is largely mechanized and automated nowadays.

Page Ref: 6

Learning Outcome:  Identify the different types of technologies used in business and describe their uses

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Concept

102) What is important to have in place to ensure that business helps improve people's lives and society?

Answer:  Legal controls should be in place to help curb abuses.

Explanation:  Social and legal controls can help limit the impacts of a "profit at any cost" approach to business.

Page Ref: 7

Difficulty:  Easy

Objective:  1.2 How can business benefit society?

Classification:  Concept

103) In general, why are entrepreneurs willing to take on the risk of starting a new business?

Answer:  The possible rewards of business success outweigh the risks.

Explanation:  With statistics showing that many affluent people are self-employed, the potential benefits of entrepreneurship are often considered to be worth the risks.

Page Ref: 10

Learning Outcome:  Explain the entrepreneurship process

Difficulty:  Easy

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

104) Over the past 30 years, much of industrial manufacturing has been automated. How did this affect the value of human resources and capital?

Answer:  The value of human resources decreased and the value of capital increased.

Explanation:  Automation of the manufacturing process replaces labor (human resources) with technology (capital).

Page Ref: 11

Difficulty:  Moderate

Objective:  1.3 What are the main sources of wealth?

Classification:  Concept

105) Iraq's burning of the oil wells in Kuwait during the 1991 Gulf War is an example of what kinds of forces impacting what factor of production?

Answer:  global forces impacting natural resources

Explanation:  The war is an example of global forces affecting the business environment. Burning the wells impacted the availability of oil, a critical natural resource for economic growth. 

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Synthesis

106) What is the primary goal of shareholders in a business?

Answer:  to make a profit on returns on their investment in shares in the company

Explanation:  People invest in businesses to build their wealth.

Page Ref: 15

Difficulty:  Moderate

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

107) Explain the hallmark of the "global economy."

Answer:  Interdependence is the hallmark of globalization, in which firms in different countries come to rely on each other for their production and other business services.

Explanation:  The common economy, or globalization, is the term for the leveling of the competitive playing fields for industrial and emerging market economies. 

Page Ref: 19

Difficulty:  Difficult

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

AACSB:  Dynamics of the Global Economy

108) The collapse of the U.S. housing market and the resulting Great Recession of 2007-2009 produced significant shifts in Americans' living situations and attitudes about home ownership. Home builders, furniture stores, and appliance manufacturers all adjusted business strategies in response to what main factor?

Answer:  The Great Recession represented a significant social change in the buying power of individuals throughout the economy.

Explanation:  Homeownership rates dropped during this period, and many Americans no longer believe that owning a home provides financial security. These profound social changes impact any business that serves the housing market. 

Page Ref: 22

Difficulty:  Difficult

Objective:  1.5 What are Seven Key Business Rules to observe in pursuing business success?

Classification:  Concept

Tarnopol Learning Services (TLS) offers tutoring to high school students, college students, and adults returning to school. TLS's major product offerings include academic tutoring, standardized test preparation, and admissions consulting. Demand for standardized test preparation, which accounts for the majority of TLS's revenues, peaks before the most popular test dates. Demand for admissions consulting peaks late in the year, just before application deadlines. Demand for tutoring services varies less than demand for other TLS services, but it is highest near the end of academic semesters. Staff shortages during these times have been a persistent problem. In response, TLS is considering whether to 1) recruit and train a greater number of temporary workers during peak demand times; or 2) partner with a tutoring and testing outsourcing firm that would provide services to TLS customers using the TLS brand.

109) In making the decision between hiring a greater number of temporary workers and partnering with a tutoring and testing outsourcing firm, all of the following questions would be relevant EXCEPT which one?

A) Would TLS have any responsibilities to the workers it hires that exceed its responsibilities to the workers hired by the outsourcing partner?

B) Is the outsourcing partner better than TLS at recruiting potential employees?

C) Would tutors trained by another company be likely to teach the test-taking techniques favored by TLS?

D) Is TLS capable of meeting the demand for its services by using its own recruiting and training resources?

E) Would TLS have any staff shortages if it limited itself to offering academic tutoring?

Answer:  E

Explanation:  E) All the choices are parts of the decision except for Choice E. TLS is evaluating these two ways to solve the problem it has. Figuring out what would happen if TLS changed its approach doesn't help TLS decide how to fix the staff shortages that come with the current approach.

Page Ref: 4

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Critical Thinking

AACSB:  Analytic Skills

Martinet Machines is a U.S. company that manufactures bicycles, skateboards, and exercise products. The company wants to see if it can outsource some of its business processes, such as parts procurement and assembly, to companies in other countries.

110) Martinet's CEO thinks that the company has good reason to outsource some of its processes to Latin America. Which of the following, if true, strengthens the CEO's argument?

A) Many Latin American countries have strained relations with the United States.

B) Shipping costs to and from Latin America are high.

C) Labor in Latin America is much less expensive than in the United States.

D) Labor organizations in Latin America often advocate workers' strikes. 

E) Latin American companies have a very different business culture than U.S. companies.

Answer:  C

Explanation:  C) Much less expensive labor would be a good reason to outsource since it is a way for the company to potentially greatly reduce costs. Choice A weakens the case for outsourcing to Latin America since politically strained relations could easily affect business adversely. Choice B makes it more expensive to do business, which would be a drawback, unless it were offset by significant savings in some other way. Choice D weakens the case for outsourcing to Latin America since work may be frequently interrupted by strikes. Choice E suggests that U.S. companies may have problems working and communicating within Latin American countries.

Page Ref: 6

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Critical Thinking

AACSB:  Reflective Thinking Skills

111) Which of the following, if true, weakens the CEO's case for outsourcing to Latin America?

A) Latin America has rapidly growing markets in consumer products.

B) Labor conditions in Latin America are volatile.

C) Latin American countries have mostly friendly relations with one another.

D) Companies in Latin America are quite knowledgeable about American business culture.

E) Latin American workers are willing to work longer hours than many American workers.

Answer:  B

Explanation:  B) This suggests that it would be difficult to predict the success of Martinet's relationship with a Latin American company. On the other hand, if the labor market has positive aspects from Martinet's point of view (Choice E), that would support the CEO's case for outsourcing to Latin America. Choice A also strengthens the CEO's case because it suggests that Latin American countries would be able to support Martinet's part and assembly operations. If the Latin American business environment is stable (Choice C) and Latin American companies are savvy about doing business with their American counterparts (Choice D), then Martinet will likely be able to work relatively smoothly with Latin American companies. 

Page Ref: 6

Difficulty:  Moderate

Objective:  1.1 What is business, and how are profits made?

Classification:  Critical Thinking

AACSB:  Reflective Thinking Skills

112) Which of the following, if true, strengthens the case for Martinet to not outsource some of its operations to Latin America?

A) Shipping costs between the United States and Latin America are low.

B) Martinet's workers just won a number of expensive concessions from the company in its latest labor contract.

C) The specialists most familiar with the company's unique designs and materials can be found only in the United States.

D) Latin American countries give U.S. companies incentives to build facilities there. 

E) Latin American countries have become increasingly sophisticated in their level of industrial technology.

Answer:  C

Explanation:  C) Conducting major business operations far away from the specialists who know the most about them might not be the most effective strategy. Choices A and D describe ways in which outsourcing to Latin America might be more cost-effective than to other places. Choice B suggests that Martinet might need to outsource due to rising labor costs. Choice E suggests that Latin American companies would have the technical capabilities to do what Martinet needs to them to do.
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Mariko: Businesses tend to improve society by increasing the quality of life. Consumers benefit from the existence of businesses competing to offer goods and services that consumers want. That is why the freedom of businesses to operate in a free market is so important.

Hugh: It is not necessarily free-market forces that make businesses most beneficial to society. Businesses have the power to improve their communities by making environmentally aware choices. But this does not happen automatically; it requires good conscious choices made by businesses.

113) Which of the following, if true, would strengthen Mariko's position?

A) Most countries either already have or are moving toward free-market economies.

B) Consumers do not always know exactly what they want.

C) The quality of life is much lower in countries that have little or no free-market economy.

D) Businesses in a free market exist primarily for the profit motive.

E) Businesses tend to want the most hardworking employees.

Answer:  C

Explanation:  C) If the quality of life is much lower in countries with little or no free-market economy, this strongly suggests that free-market forces alone account for a great deal in enhancing the quality of life. Choice A does not suggest anything about whether the normal operation of businesses enhances the quality of life. It would require the further assumption that quality of life increases as countries adopt free-market practices. Choice B, if anything, may weaken Mariko's position, if consumer choices did not lead to higher quality of life. Choice D says nothing about whether businesses working for the profit motive enhance the general quality of life. Choice E is not relevant to the issue Mariko addresses.
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114) Which of the following, if true, would strengthen Hugh's position?

A) Consumers benefit from free competition between businesses.

B) Businesses that pursue environmental responsibility tend to prosper more.

C) Individual citizens are becoming increasingly aware of the need for environmental responsibility.

D) Most businesses exist for the primary goal of making profits.

E) Businesses that operate only by the profit motive tend to have a neutral or negative impact on their communities.

Answer:  E

Explanation:  E) This strengthens Hugh's contention that special efforts besides the profit motive are required for businesses to have a positive impact on their community. Choice A may strengthen Mariko's, not Hugh's, position. Choice B may suggest that operating by the profit motive leads by itself to environmental responsibility. Choice C does not relate to Hugh's contention about businesses. Choice D does not say anything about how businesses may better their communities.
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115) Mariko's position rests on which of the following assumptions?

A) Competition between businesses leads to consumers getting what they want.

B) The free market is the only way that businesses can be socially conscious.

C) Consumers only get quality-of-life enhancement from products and services.

D) Most businesses do not care whether they enhance quality of life or not.

E) Consumers are not concerned about environmental awareness.

Answer:  A

Explanation:  A) Mariko assumes that competition is a way that businesses can offer products and services that consumers want. Choices B, C, D, and E are statements that may be true or false independently of what Mariko is arguing.
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116) Hugh's position rests on which of the following assumptions?

A) The free-market system is not the most economically desirable one.

B) Consumers care more about environmental responsibility than getting what they want.

C) Businesses are the only entities that can provide environmental benefits.

D) The free market provides no natural inducements for businesses to behave in environmentally positive ways.

E) Businesses should be required by law to have environmental initiatives.

Answer:  D

Explanation:  D) Hugh assumes that businesses have to make special efforts to behave in environmentally positive ways. Choices A, B, C, or E may be true or false independently of Hugh's argument.
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117) Which of the following is the point at issue between Mariko and Hugh?

A) whether businesses help improve society

B) how businesses help improve society

C) whether consumers know what they want

D) how consumers find the goods and services they want

E) whether businesses exist for the profit motive

Answer:  B

Explanation:  B) Mariko and Hugh do not disagree on whether businesses can help society, nor on what the basic reason is for businesses existing, nor on whether or how consumers get what they want from businesses, but on whether quality-of-life enhancements due to products and services or businesses' ability to behave in ways that benefit their community are more important to how businesses help society.
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An entrepreneur is planning to open a small chain of four to six pizza stores under the brand name "Redenda Pizza." The name comes from combining the first names of the entrepreneur's grandparents. The entrepreneur wants to have a competitive advantage by offering innovative and distinct specialty pizzas and by offering the freshest ingredients. However, she is concerned that without proper planning, her venture will not be successful.

118) The entrepreneur is trying to identify potential problems in order to avoid them or at least to be better positioned to react if they cannot be avoided. In doing so, the entrepreneur should account for all of the following possibilities EXCEPT which one?

A) the possibility that years in the future scientists may give a new communicable disease a name that sounds similar to "Redenda" 

B) the possibility that a significant number of her potential customers could be allergic to one or more of her ingredients

C) the possibility that seasonal variations in the availability of ingredients could affect the price of those ingredients

D) the possibility that advertising "fresh" ingredients may prevent Redenda Pizza from using less-expensive ingredients

E) the possibility that many customers are reluctant to try new pizza recipes 

Answer:  A

Explanation:  A) Identifying things that could go wrong is an important part of planning, but it is unrealistic to try to account for every possibility. The event in Choice A would be devastating if it happened, but how could it be avoided? There's no good way to tell whether this name (or any other distinctive name) will take on a negative meaning. The entrepreneur could go around the world and beg scientists not to name a disease anything that sounds like "Redenda," but that's not a good use of time. Right now, there's nothing wrong with the name, and so Choice A is a risk that the entrepreneur will have to take. The other choices are all reasonable possibilities that could be accounted for during planning.
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Parallel Beauty Salon has been open in a small town in North Carolina for a little over one year. Entrepreneurs and business partners Betsy and Frieda are pleased with the fact that the salon has survived its first year, and they would like to see their business grow financially. After careful contemplation, they are considering making several changes to how they run the salon. They believe that expanding business hours to include an extra two hours in the morning during the week, providing a mini-snack bar, and including a childcare service will help to expand their customer base.

119) Which of the following, if true, best supports the argument that Parallel Beauty Salon should expand its hours as well as include a snack bar and a childcare service for its customers?

A) A recent survey of the salon's current customers, as well as other area residents, reveals that the town's demographics include a high percentage of stay-at-home moms with small children.

B) Many of Parallel Beauty Salon's customers have expressed their dissatisfaction with the quality of the hair salon services they experienced in the past at the other beauty salons in the area.

C) Parallel Beauty Salon has done exceptionally well with selling its introductory line of beauty products, including shampoo, conditioner, and a hair serum, to its customers over the last three months. 

D) Salon Sunflower, Parallel Beauty's closest competitor, has been successful with attracting stay-at-home mothers due to its modest prices for hair salon services such as wash and shampoo and roller sets.

E) Parallel Beauty's hair stylists unanimously support expanding their work hours, but only if the salon begins providing complimentary childcare and other perks.

Answer:  A

Explanation:  A) Should Parallel Beauty expand its business hours as well as include a mini-snack bar and a childcare service? If Choice A is true, then having earlier hours, snacks, and a childcare service for customers might attract the stay-at-home moms with young children to come in and get their hair done. Choice B relates to how Parallel Beauty customers feel about their past hair experiences with other salons. It doesn't address how Parallel's proposed new hours, snack bar, or childcare service will help expand its customer base. Choice C shows that Parallel Beauty has been successful with its beauty products but tells us nothing about how its proposed new hours, snack bar, or childcare service will help expand its customer base. Choice D weakens the argument by suggesting that stay-at-home moms are most concerned with the cost of hair services. Choice E tells us about the staff of Parallel Beauty but does not address how the proposed new hours, snack bar, or childcare service will help expand its customer base.
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120) Which of the following, if true, undermines the argument that Parallel Beauty Salon should expand its hours as well as include a snack bar and a childcare service for its customers?

A) A recent survey of the salon's current customers, as well as other area residents, reveals that stay-at-home moms would be willing to pay extra for salon services like childcare and snacks.

B) The expenses incurred by opening earlier and running a mini-snack bar and a childcare service would equal the amount of money brought in by having additional customers.

C) Parallel Beauty's competitor, Salon Sunflower, was successful in attracting stay-at-home moms when it offered childcare services and provided vending machines for its customers.

D) Parallel Beauty has consulted with financial experts who predict that implementing the proposed changes would increase the salon's monthly expenses by about 10 percent.

E) Parallel Beauty Salon's hair stylists are relatively young and do not have any real experience handling small children or preparing quick meals like soups, sandwiches, and wraps.

Answer:  B

Explanation:  B) Even if stay-at-home moms would enjoy the additional services, the services have to be cost effective. If Choice B is true, then providing the additional services would not help the business financially. Choice A strengthens the argument by suggesting that potential customers would be willing to pay extra for the additional services. Choice C strengthens the argument by pointing out that Parallel Beauty's competitor was successful when it offered similar services to its customers. Choice D fails to address whether or not this increase is acceptable based on the projected profit increase it could produce. Choice E is irrelevant as the proposed new services would not have to be directly provided by the stylists.
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121) Which of the following questions is NOT relevant to Parallel Beauty Salon's decision to expand its hours and include a mini-snack bar and a childcare service? 

A) Does the salon currently have enough space to house a childcare area and a mini-snack bar?

B) Are the salon's hair stylists willing to work additional hours during the week?

C) Does the local government impose particular taxes on businesses that provide childcare?

D) Would the presence of children in the hair salon be disturbing to clients without children?

E) Does the salon have plans to expand its beauty product line as well as its hair salon services?

Answer:  E

Explanation:  E) All the questions are relevant except whether the salon plans to expand its beauty product line. Its plans regarding its beauty product line could have implications for the salon's financial growth in the future, but it does not help Parallel Beauty to decide whether or not to expand its hours and include a mini-bar and a childcare service for its customers. Choice A is important because it tells us whether or not offering these additional services is a viable option. Choice B is relevant because opening earlier during the week will work only if stylists are available to staff the salon during those times. Choice C matters because paying additional taxes reduces the potential profits gained through adding childcare services. Choice D is relevant because if having children in the salon causes the salon to lose some of its original customers, the business may not grow financially.
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In recent years, the Internet search company Google has observed with increasing concern the phenomenal growth of social networking and online messaging companies such as Facebook and Twitter. In 2010, Google introduced a social networking, blogging, and messaging tool called Buzz that was intended to directly compete with other social networking sites. Google claimed that its Buzz offered a number of advantages over competitive sites, such as no character limit on messages and a way to mine one's email to quickly build networks of friends. Despite its touted advantages, by November 2011 Buzz had failed to take off with consumers, and Google was considering whether to discontinue the service. According to a Google vice president, "During the initial development of Buzz, a high percentage of our R&D budget focused on creating unique features. If we scaled back those efforts and instead focused on issues relating to privacy concerns, Buzz could be successful and even recoup our initial investment." According to a Google marketing executive, "Google devoted so many tens of millions of dollars to developing and launching Buzz that the fact that it has not succeeded is proof that Google's users cannot ever be persuaded to turn to Google for social networking purposes." 

122) Which of the following, if true, strengthens the vice president's argument?

A) Surveys suggested that the main reason people signed up for Buzz was related to its unique new features.

B) Twitter and Facebook have weak privacy controls.

C) Google spent more total dollars on launching Buzz than it did on any other new project in 2010.

D) A poll of 56 college freshmen determined that Buzz was less successful at identifying the location of upcoming frat parties than was Facebook.

E) Surveys suggested that the main reason people didn't sign up for Buzz was related to an inability to disable public sharing.

Answer:  E

Explanation:  E) The vice president argues that Google's development of Buzz focused on creating new features when it should have focused on privacy issues. If surveys suggested that the public's main concern was that they couldn't disable public sharing, then she was correct that Google should have focused on that privacy-related issue rather than new features, and thus Choice E strengthens her position. Choice A says that people signed up for Buzz for its new features, which weakens the vice president's argument. Choice B says that two major competing sites have weak privacy controls, suggesting that privacy is not an issue for most users. To the extent that this is relevant to Buzz, it weakens the vice president's argument that Buzz should focus on privacy. Choice C neither strengthens nor weakens the claim. She claimed only that a higher percentage of the R&D budget went into developing new features for Buzz. Whether Google spent more or less on some other project isn't really relevant. Choice D has the problem of not being a representative sample—56 college freshmen could skew statistics in many directions. In any case, it doesn't suggest much of a concern with privacy and thus weakens the vice president's argument.
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123) Which of the following points out a flaw in the marketing executive's argument?

A) It assumes that on average Google users are older than the users of most other social networking tools.

B) It assumes both that Twitter users are unhappy with the 140-character limit and also that Facebook users are unhappy with privacy issues.

C) It dismisses the possibility that most Facebook users are also users of Google.

D) It fails to account for the possibility that something other than developmental and launching costs were most crucial to Buzz's success or failure.

E) It assumes that creative input was the most important factor in determining Buzz's success.

Answer:  D

Explanation:  D) The marketing executive says that Google spent tons of money to develop and launch Buzz, and since all that money didn't lead to success, then Google users must not be a good market for this type of tool. He is assuming, however, that a certain high amount of investment would have led to success if success were possible. His argument is not considering the possibility that all that money was ill-spent—wasted on blind alleys, for example, like developing new features when what users would be most concerned about might be other issues, like privacy. Choices A, B, and C introduce issues that the marketing executive never mentions in his argument for discontinuing Buzz. Choice E mentions an assumption that the marketing executive does not make and that would undermine his contention that financial investment was the determining factor.
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124) The vice president and the marketing executive would most likely disagree about the answer to which of the following questions?

A) Does Google face a serious competitive challenge from Twitter and Facebook?

B) Are social networking and online messaging potentially important new services worth pursuing for Google?

C) Should Google stop all development on Buzz and let it die?

D) Did Google spend too much development money on issues relating to privacy?

E) Did Buzz fail to catch on because Google's Nexus One phone was too expensive?

Answer:  C

Explanation:  C) The vice president says that if Google changed its strategy, Buzz could be successful and even make back the money Google has already invested. Clearly, she thinks Google should keep Buzz alive. The marketing executive, however, says that Google has already spent enough to determine that its users will never embrace a social networking tool like Buzz. So the vice president would disagree that Google should discontinue Buzz, whereas the marketing executive would agree. Choices A and B: It's reasonable to assume that the vice president and the marketing executive would agree that Google faces a competitive challenge from Twitter and Facebook and in the field of social networking—presumably they both agreed to go ahead with development of Buzz. Choice D: The vice president would presumably disagree with the statement that Google spent too much development money on privacy-related issues, but we don't know what the marketing executive would say on the issue. Choice E introduces an issue that neither the vice president nor the marketing executive address, so we can't know their opinions on the matter.

Page Ref: 13

Difficulty:  Moderate

Objective:  1.4 What major forces affect the way companies and individual businesspeople operate?

Classification:  Critical Thinking

AACSB:  Analytic Skills

Fernandes: We should replace Embracing Diversity, our diversity training program, with a more modern program. I have polled a large number of people who were selected for the program and found that most viewed it negatively, and a substantial number thought that it was a complete waste of time. A new program should focus more on uncovering unconscious prejudices instead of spending so much time explaining that prejudice is wrong. 

Murray: The Embracing Diversity training program has been providing results for years. It is comprehensive, with 15 different two-hour sessions. Participation is voluntary, and so I don't know how anyone could claim that it is wasting their time. Any participant who is not getting value from the program can stop coming. But if participants do not like the program, they have a strange way of showing it: Our records show very few negative evaluations of the program. 

125) Which of the following is the point at issue between Fernandes and Murray?

A) Is diversity an important concern?

B) Would Embracing Diversity be more effective if it focused more on uncovering prejudices?

C) Should the organization continue to offer Embracing Diversity?

D) Would the program be more effective if it were available online?

E) Are training programs effective in promoting diversity?

Answer:  C

Explanation:  C) Both speakers seem to agree that diversity matters (Choice A) and that training programs can be effective (Choice E). But Fernandes wants to get rid of the current training program, Embracing Diversity. Murray wants to keep it. So the speakers disagree about Choice C. Choice B: Fernandes would agree, but we don't know what Murray thinks about Choice B. She defends the program's existence, but doesn't claim that it cannot be improved. Choice D is tough, but we don't know if Fernandes believes that putting the program online would be an improvement. We also don't know if Murray believes that any improvements are necessary.
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126) Which of the following, if true, helps explain the apparent discrepancy above?

A) The participants' evaluations of Embracing Diversity are administered at the final session only.

B) Personnel evaluations revealed no significant differences in behavior between those that participated in Embracing Diversity and those that did not.

C) The format of Embracing Diversity has remained essentially unchanged since it was first administered.

D) The facilitators for the Embracing Diversity program have completed the program themselves.

E) The poll cited by Fernandes is part of an overall effort in the organization to evaluate the effectiveness of training programs.

Answer:  A

Explanation:  A) The poll of former participants says people don't like the program, but there are very few negative evaluations. How can both be true? Choice A helps solve the mystery by pointing out the difference between the populations that Fernandes and Murray are polling. Fernandes polled participants of the program. That's everyone. But if Choice A is true, then Murray only polled people who completed the program. The program is voluntary, and so people who didn't like it probably wouldn't attend the last session. It stands to reason that the people who attended the last session are more likely to be the people who liked the program, and it's no surprise that there weren't many negative evaluations from them. So Choice A explains how people could dislike a program that had very few negative evaluations. Choice B supports Fernandes but doesn't explain the lack of negative evaluations. Choice C, if anything, deepens the mystery. If the program had changed, then that might explain the difference in poll results. But consistency in the program just makes the results seem stranger. Choice D strengthens Murray's argument (just a little) but doesn't explain why so many participants do not like the program. Choice E: The overall program doesn't matter. This argument concerns the evaluation of Embracing Diversity only.
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127) All of the following, if true, weaken Murray's argument EXCEPT which one?

A) The program evaluations must be signed, with a copy sent to the participant's supervisor.

B) The program evaluation is limited to asking how the participants benefited from the program and what lessons they learned.

C) Participants in the program are prescreened so that the program includes only those who support the program's approach.

D) Surveys reveal that a substantial proportion of the employees oppose the organization's diversity efforts.

E) Records of the program's evaluations are held and maintained by the supporters of the program.

Answer:  D

Explanation:  D) Murray's argument has plenty of holes, but Choice D isn't one of them. If anything, Choice D weakens Fernandes' argument. Choice A suggests that the evaluations may not be honest. Choices B and C suggest that the process is rigged to give positive results. Choice E suggests that the records of evaluations might not be reliable because the supporters of the program could have "lost" all the bad evaluations.
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Flavor Foods runs The Hungry Cow, a chain of fast food restaurants located all over the country. The chain has a loyal customer base and is well-known for its signature dishes like the Big Bite Burger, Springy Fries, and the Orange Float. The company is faced with a critical decision: Should it expand its operations into China.

128) Which of the following, if true, strengthens the argument for competing in the Chinese market?

A) Changes in exchange rates can affect the value of sales made in different countries.

B) Even global brands typically choose to tailor their offerings according to the tastes of consumers in different countries.

C) The Big Bite Burger has a higher selling price than other items on The Hungry Cow's menu, but it is not the most profitable item because of the cost of its ingredients.

D) The Hungry Cow's research indicates that reaching new customers in domestic markets will be more expensive than doing so in emerging markets.

E) Chinese companies tend not to pursue the franchise option when attempting to expand into other countries.

Answer:  D

Explanation:  D) Expanding into the Chinese market is a complicated decision involving many factors. One of those is the cost of reaching new customers. If Choice D is true, then the cost of reaching customers in emerging markets (China is one of those markets) is relatively low, and so Choice D strengthens the argument. Choice A suggests that expanding would be risky, which doesn't help the argument. Choice B suggests that The Hungry Cow would have to make some changes in order to compete in China, which makes entering China sound harder. Choice C tells us nothing about China or the opportunities there. Choice E refers to the wrong subject. The issue here is expansion into China.
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129) Which of the following, if true, weakens the argument for competing in the Chinese market?

A) An American fast food chain found that the time to recoup its investments in China was greater under the franchise model as opposed to the corporate chain store model.

B) Chinese government policies can impose lengthy delays on businesses seeking food sale licenses.

C) Studies show that modern Chinese consumers are more likely than previous generations to dine outside the home.

D) When choosing a restaurant, Chinese consumers seek benefits beyond simple food quality.

E) Expanding into every market within China would require more resources than The Hungry Cow has at its disposal.

Answer:  B

Explanation:  B) While the Chinese market sounds attractive, it would be less attractive if Choice B were true and the government could hold up development while sorting out licensing issues. Choice A is on the wrong subject. The issue here is whether expansion into China is a good idea, not the specifics of how to expand. Choice C only strengthens the argument by suggesting that demand will be strong. Choice D makes no clear difference because we can't tell whether The Hungry Cow is positioned to offer the benefits that Chinese customers seek. Choice E is a reason not to expand everywhere, but that is not a reason to avoid China entirely.
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DVD Heaven sells new and used DVDs, particularly to college students in large university cities. It plans to expand its business online, hoping to increase sales by offering a more convenient means of ordering for busy college students.

130) The vice president of marketing suggests opening a Facebook page for DVD Heaven, but the president argues that social media sites would not help its business. Which of the following statements, if true, supports the argument made by the president for NOT using social media sites as part of DVD Heaven's advertising strategy?

A) Social media is changing so rapidly that what is relevant today may easily be outdated tomorrow.

B) Search ads combined with social media campaigns lead to higher results for products than just using general search ads.

C) Brands entered in social networks as topics or members of the community can build customer relations.

D) Social media sites can increase buzz and word of mouth simply by conversation about a product or business.

E) Social media sites provide real-time discussions that can include the latest DVDs available or recommendations for DVD purchases.

Answer:  A

Explanation:  A) Choice A is the only statement that supports the argument of the president for not using social media advertising because it is changing so rapidly that strategies developed today may not be relevant in the near future. Choices B, C, D, and E all support the argument made by the vice president for using social media sites. Choice B emphasizes that combining social media and general search ads leads to better results than general search ads alone. Choices C and D indicate that social media sites increase brand recognition and customer relations. Choice E supports the vice president's argument in that real-time discussions can lead to increased buzz resulting in increased sales.
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131) The president of DVD Heaven has been talking to several other business owners, and now expresses some concerns over developing the e-commerce side of the business. The vice president argues that it is essential for continued growth, but the president argues that there are too many consumer concerns. Which of the following statements, if true, does NOT support the argument being made by the president regarding consumer concerns?

A) Fraudulent businesses are being set up and run on the Internet. Many consumers would rather enter a building that houses a business they know really exists than shop online.

B) Identity theft and the theft of credit card numbers can occur when ordering online.

C) Privacy can be compromised on the Internet, and unethical e-businesses can track or sell sensitive information such as buying patterns.

D) College students are five times more likely to order over the Internet than older adults.

E) Customers like to see and feel products before ordering them.

Answer:  D

Explanation:  D) Choice D does not support the president's argument, but rather the vice president's for expanding the e-commerce side of the business. Younger adults are more comfortable with all aspects of Internet buying and selling, and since DVD Heaven caters to college students, its customers and potential customers are already comfortable with Internet ordering. Choices A, B, C, and E all support the president's argument about consumer Internet concerns. Fraudulent businesses, identity theft, privacy issues, and wanting to actually see and hold purchases are all consumer concerns.
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Stephanie Ungar is the owner of Spa World, a midsized chain of full-service day spas located throughout the Midwest. Stephanie spends much of her time each day learning about her company's customers, from analyzing customers' comments and ratings on Spa World surveys to interacting with customers at one of the company's many spas. Informed by her research, Stephanie has created several customer packages that meet the desires of the company's most loyal customers as well as packages aimed at attracting and keeping customers who only occasionally come to Spa World.

132) Stephanie is concerned about identifying underlying needs instead of simply focusing on existing demands. All of the following questions, if asked during her research, would help Stephanie EXCEPT which one?

A) To what extent are potential visitors to Spa World motivated by concerns about health as opposed to improving their appearance?

B) Would Spa World customers be interested in similar services and products delivered at their homes?

C) When customers visit Spa World, are they more interested in solving their everyday problems or are they more interested in forgetting about those problems?

D) Would Spa World be more focused on identifying underlying customer needs if it had originated as a division of a larger organization?

E) Would Spa World customers value health and beauty advice even if following that advice did not lead to a purchase of a currently existing Spa World product or service?

Answer:  D

Explanation:  D) All of the wrong choices here involve questions that would help Spa World break out of its current definition of its products and services. The exception is Choice D, which would help Spa World understand why it acts as it does but would not help Spa World become more customer-focused.
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133) Management at Spa World is having trouble understanding the concept of meeting underlying customer needs instead of simply selling the products it makes. Doing this effectively requires marketers to think about possibilities that are outside of the customers' current experiences. To illustrate the idea, Stephanie explains that years ago the earliest camera manufacturers typically failed to predict that camera customers would do what?

A) balance quality and price before making purchasing decisions

B) be interested in recording sound as well as images 

C) trust recommendations from friends more than advertisements

D) prefer to try out new products before they buy them

E) seek volume discounts when making large orders

Answer:  B

Explanation:  B) The correct answer is the one that describes a possibility that was outside of the experience of the earliest camera customers. Those customers would have known about balancing quality and price (Choice A), trusting recommendations more than ads (Choice C), trying out products (Choice D), and seeking volume discounts (Choice E). But the camera customer experience at the time would not have included recording sound as well as images. That would have been new. So while failing to predict any of these would be a bad thing, failing to predict the desire to record sound is the only choice that illustrates an inability to think about possibilities outside of customers' current experiences.
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134) In her proposal to management, Stephanie suggests creating a variety of new services that will help Spa World satisfy unrecognized needs. Spa World's investors are skeptical. Some point out that Spa World customers have never purchased these services in the past, nor have they asked for them. Which of the following is the best reply Stephanie could offer to this objection?

A) When a new product or service is introduced into the market, other companies often find ways to improve on that product or service.

B) With proper attention to cost control, Spa World's expenditures on these services could be only a small portion of Spa World's overall budget.

C) Effective market research can identify customers' underlying needs and measure their interest in new products and services that meet those needs.

D) The costs of servicing some customers can be so high that a business can be more profitable by ending the relationship with those customers.

E) Organizations that offer new products and services often need to spend resources explaining features and benefits to customers who are unfamiliar with those products and services.

Answer:  C

Explanation:  C) What would be the best reply to the objection that customers have never bought or even asked for the new services? As Choice C points out, effective market research can help Spa World figure out what new products and services would interest its customers. So Choice C is an effective retort. Choice A weakens Stephanie's case by suggesting that the first company to produce something will produce a worse version than later companies will produce. Choice B suggests that the new services won't cost so much, but that's not a reason to produce them. The investors don't claim that the new services are too expensive. Rather, the investors aren't convinced that customers want the new services in the first place. Choice D is true but irrelevant here. Cutting off unprofitable customers tells us nothing about Stephanie's ideas or the objection. Choice E suggests that the new products will be more expensive, which doesn't help Stephanie's case.
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